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* Indicates required question
Email *

Your email

Name / QuiwJ: *

Your answer

Email ID / WdledT6oT@h & 6L (L& el : *

Your answer

Name of the school / UeiTerflufledsr QW : *

Your answer
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1.State whether the following statements are true or false / Lil6oTeu(HLD
o (DM G6IT 2_600TeMLOUWIIT QUITUIWIT 6TeTLIem S & &GMlLILN Ll

Climate and Weather are the
same / SL_LIG6ULILI
Blemeul LD eumesflemeuu LD
@Gr LTS flwimeTenal

Heavy metals can cause
developmental damage in
humans / &60T 2_G6V & MG 6T
LD 60155 17 &5 61l 60T
aleTFgFIullev LITHLI6oL
JOUBSSILD.

Global warming is an effect of
climate change / Lja)l
QEULILILDEDL_ &6V 6T6OTLIS
&HITELBlem6V LDTMHM & S 60T
allemereay.

Following reduce- reuse-recycle
is one of the mitigation
measures / QGMLIFFRWITS
&M G 6V-

LI LIW6TLIT(H)-L0MIG LM
Q&FWI6L&HEM6IT
LesTuhmieu gl GemmLiL]
I5L_6)19.8560) 8556116V
6260TMMGLD.

True

O

False

O

4 points

2/6



Pre-questionnaire for students / LDITE00T6) [T & @15 &5 & 60T (LD6DT B8 6iTedl g5 5 meiT

2. Identify which of the following is a climate change mitigation effort from * 1 point
the below actions / &Lp&8600TL. QIF W6V 660 @ (BIHS! &IT6VHl6M6V
LDTMHM&H NS S GHMMEGLD (PUIMT) 6T 6T60TLIEN S5

FevorL_mluleyLD

O

O
O
O

Using drought-resistant crops / eimL_Flenwis SMHIGLD LUl FTHemerL
LW 6T & SIS 6V

Using renewable resources / L1988 5 588 66THIGH606TL
LW 6T & SIS 6V

People living in low-lying areas move to high grounds / &TLpaumesT LI & &6rflev
AT &G LD IDGHGEHET 2_UIFLNTET @)L M618EH&HE @)L LD QLW 5 6dTme6oT

Grow a variety of crops / ellgellgnmer LW T&emer LUK (H mhigs 6T

3. Fossil fuels are ( choose the correct answer) / Ljet LIl 6 * 1 point
eriflQuUmmeTs 6T (Fiflwmer LHenevs CHTHO S H &E6]|LD)

O

O
O
O

part of the atmosphere / 6u6rf]L0600T L6V 8 5 60T 62(IH LIGH)
made up of dirt and mud / (&GS LDMHMILD CFMMITEV ,60TS

dead plants and animals buried for many years / @mb& &MU MmI&H6T LOMHMILD
AN UG S6T LI6V 2,600T(H SH6MITS L|60&H &85 LILIL L 60T

bones of animals that lived many years ago / LI6V 24,600T(H & EH&H & (60T
QUMLDIES 66Vl @& 6rfl6oT 6TeVILDL| & 6iT

4. Identify which of the following is not a greenhouse gas * 1 point
/ LNedTeupeueTelmNl6v 6181 LIG6mLD @606V QUITU| 606V 6T60TLIENSHE
&evor Ll uleyLD

O
O
O
O

Nitrous Oxide / émBL TN 2,8560F (h
Oxygen / 1,8 6n0le3601
Carbon dioxide / &TJLIGT D)L 2,560 & (h)

Methane / L85 G & 60T
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5. Vulnerable people are prone to the impacts of extreme weather because * 1 point
/ UMBE&LLLSFIW D&S&H6T SallT eumenflenevulleor
SMTEHGHBIGEHE G L6TTH MTIEH6T

O they cannot adjust to a new set-up / S|UF&H6TIT6V 2([H LIS U S6mLDLIOLIEF
FlQFWW WL Wmsl

O they have been living in that place for many years / 9|6U[F&6T HS @)L HFH 6V
LI6V 24,600T(H & 6ITTS 6UF &SI 61 ([H R 60T M 60T [

they have their jobs in and around the area, they live in / Q|6UF&H6T UF &G LD
O uveHVID SmsE &HHlWETET LGS Safailb &hisEHT Couemas:aeTs
Q@ & T600T () GITEITE0T [T

6. Climate justice is / &meuBlenIev BH) 6T6OTLIG * 1 point

O a concept to address issues of extreme weather impacts / a7 eumesflemev
LTSI &6 607 LN T& & 6m 6018 @h 8@ BHIT6) 85MT600T LIS M & T60T 62(1H & (H&SH S

O a concept that talks about the rights of marginalised people / ellerfllbL|Blemev
& &erfler 2_flemngseT LM CLISLD SIS S

O a concept that promotes rich and poor are equal / LIGOOT& & TIEDILD 60O LD
FLOLD 6TOTLIEN S 26186 &G0 H(HSH S

7. Science denial can be defined as / 9mlelluieb LDMILIL] 6TEOTLIEN S * 1 point
6TLILILG. 6U6M T UIMIS&HEVITLD

O scientists denying that climate change is happening / &TevIBlemev LOMMHMLD
gouUBeuens 6lehehmeof1& 6T L0.mI& ) 60T m6oT [

a concept where people propagate that climate change is a natural process /
&HITELBlEM6EV LDMMHMLD R H @)W MEM & UITET Q& UI6LLNEM 6T6OTMI LN& &5 6T
Np&emyb QF WD @ SHS S

SLTEUGVTSETITE 2618 &6l &8 LMD (H &HE S

a concept that the governments are fighting against / &|J& kI & I & 6T

O a concept that is promoted by environmentalists / & MHMI&F & LO6V
O B IS CUTTTOID RO HGSS!
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